Y Al Et
A B 7 R =
“ % B ERER
B & ¥ B %
15 i | AL EETHEEZERR RS
# Rl | $%0 54 48 4B H> £ 54128 98 T (250HF)
2 #H F E |5 W LSEE FE25F Z2 H ¥ T B |Hf & 4B
2 #H K5 | RiERy 2 ¥ A & | BRBEALL
2tk AT B | 061100 BRI MRS
B & & | 1,947,000/ (5 B5EBIIZR 5 EEFRZ 177, 000M)
FEMAE ( BIA) 2,059, 200 (AFLE L8 1,872, 000M)
& E R M K| E
RSk
2 ¥ W F H | BHNRE-ETTUEBFETAS2 551
RERIWHE TH LK
At B (B4 A) 4% 5% 38 28H A K o2 F K |128
¥ B | 0301 EMEKEHEREE 2 #H RO £ |RR
A #l = g
¥ F 4 £1H g 20 $£3[H e

20005430-0 1840 000
V| A4 Ja=F s k&4t

20006893-0 1820, 000
2 | hREHBERY V—i84 T

20007161-1 1 830 000
3| BEIEKREH REHEXE

20004165-0 1,820, 000
4| ELEstsit

20004200-0 1.770. 000
5 | AEkESHAa n

EAL

20001847-1 1 815,000
6| XU THEH EHBEEER

20004069-0 1 850 000
1| KBSk St

20005424-0 1840, 000
8 | hEa Fokstatt

20007988-1 1,800, 000
Y | mmesmEEMtst RHEXE

20005557-0 1820, 000
10| st St HF

ZNES

259




/L= =[F
A L = 1T FH ZE
" % B BIRET
m A B E =%
5 Fr | kB EHETEEZEH AN
HA Ml | <% 5% 48 48 M5 <8 5F128 98B FT (2508
2 #H F E |5 W LSEE FE25F Z2 H ¥ T B |Hf 5% 48 1H
Z2 8 X & | #BEE8 2 #H A &k | BEBEALNL
ik O AT B | 061100 EEERED MEREIEE
B4 & & |1,947,000M (5 BEEIIZFEZEERE 177,000M)
FEME ( BisA) 2,059, 200/ (AFLELLEIER 1,872, 000M)
= K& # B i % |8
REESGASH
2 H M F A | BENE-ETTUHEHEFTRE2 5FM
REEREERE TFH LX
AfB (FE+B) < 5% 38 28H A oEx FH O |[12%F
ES 2 | 0301 BEYMELREHRREE 2 #H KR I £ |&kK
A #L i1 g
¥ & £ £ 1[0 %2 $£3[H 5
20008012-1 1.800. 000
| el H2HEXE
12| k4%t L DS
k %k %k k %k
ZES

259




